IMMACULATE CONCEPTION COLLEGE
170, M.M. WAY, BCNIN CITY

ENTRANCE EXAMINATION 2014/2015 ACADEMIC SESSION

SUBJECT:  MATHEMATICS
CLASS:  JSS.1
TIME:  1¼  HOUR

SECTION A:  OBJECTIVE QUESTIONS.   
INSTRUCTION:  You are to circle the right option

1. How many thousands are there in 695204? (a) 69000 (b) 95 (c) 695 (d) 69
2. The Roman numeral CCXCVI represent the number (a) 394 (b) 295 (c) 296 (d) 294
3. Find the HCF of 24 and 60 (a) 3 (b) 4 (c) 6 (d) 12
4. Express 25 minutes as a fraction of one hour (a) 5/12 (b) 3/5 (c) 4/5 (d) 11/12
5. What is the smallest number that can be divided exactly by either 12, 15 or 20 (a) 30 (b) 45 (c) 50 (d) 60
6. If 37 exercise books cost N2.59, what is the cost of each? (a) 6 kobo (b) 7 kobo (c) 5 kobo (d) 8 kobo
7. The unit of measurement in capacity is called (a) Ruler (b) Metre (c) Litre (d) Grams
8. If 16 children should eat a crate of eggs in 9 days.  How long will the same crate of eggs last 12 children?  (a) 10 days (b) 12 days (c) 13 days (d) 14 days
9. Express 28 as a product of prime factors (a) 2 x 4 x 7 (b) 2 x 3 x 7 (c) 2 x 3 x 5  (d) 2 x 2 x 7
10. How many days are there in 5 weeks?  (a) 35 (b) 21 (c) 15 (d) 7
11. Express ¾ as a decimal (a) 0.85 (b) 0.80 (c) 0.75 (d) 0.60
12. What is the perimeter of a rectangle of sides 10m by 5m?  (a) 15m (b) 20m (c) 30m (d) 50m
13. The average attendance at school for 5 days was 264.  The attendance on 4 of the days were 239, 250, 281 and 290.  What was the attendance on the fifth day?  (a) 260 (b) 264 (c) 270 (d) 274
14. A car travels for 3 hours at 100km per hour.  How long will it take another car to travel the same distance at 80km per hour? (a) 4¾ hours (b) 4 ½ hours (c) 3¾  hours (d) 3½  hours
15. How many lines of symmetry does the figure below have

(a) 1
(b) 2
(c) 3
(d) 4


16. What is the name of the triangle below?

(a)  (
50
0
50
0
)Equilateral triangle
(b) Right-angled triangle
(c) Isosceles triangle
(d) Scalene triangle

									
17. The area of a circle is 154cm2, Calculate its radius (Take ).  (a) 49cm (b) 22cm (c) 14cm (d) 7cm
18. A line that cuts a circle into two equal parts is called a (a) chord (b) circumference (d) diameter (d) radius
19. The correct prime numbers between 30 and 50 are as follows, (a) 31, 33, 37 and 47 (b) 31, 37, 41, 47 and 49                         (c) 31, 33, 37, 41, and 47 (d) 31, 37, 41, 43 and 47
20. If 3/m = 1/9, what is the value of m?  (a) 1/27 (b) 1/18 (c) 1/6 (d) 27
21. Osahon and Uyi shared 520 oranges in the ratio 5:8.  How many oranges has Uyi?  (a) 200 (b) 230 (c) 260 (d) 320
22. In an examination, a boy scored 35 marks out of 50.  Express his score in percentage (a) 30% (b) 50% (c) 70%                                    (d) 90%
23. Find the value of k, if 72 + k = 80 (a) 6 (b) 8 (c) 9 (d) 12
24. How many 60’s can be subtracted from 300 (a) 4 (b) 5 (c) 8 (d) 10
25. Arrange 7/8, ¼ , ½, 1/3 in ascending order (a) ¼, 1/3, ½, 7/8 (b) 7/8, 1/3, ½, ¼  (c) 7/8, ½, 1/3, ¼  (d) 1/3, ½, ¼, 7/8 
26. What is  in its lowest term?  (a) 17/20 (b) 27/20 (c) 31/20 (d) 71/20
27. In the figure below, AB = 3cm and BC = 5cm.  Find the size of AC
 (
B
A
C
3cm
5cm
)






(a) 3½ cm  (b) 4cm (c) 4½ cm (d) 6cm
28. Convert 400c to 0F if (10c = 1.80F) (a) 1000F (b) 900F (c) 800F (d) 720F
29. A man’s age in 1950 was 41.  In what year was he born? (a) 1907 (b) 1909 (c) 1917 (d) 2006
30. Write >, < or = in the box provided 9 x 8        144  (a) = (b) <  (c) >  (d) 
31. If a bale of fish that cost N2000 is sold at a profit of N150.  What is the selling price  (a) N2300 (b) N2230                             (c) N2150 (d) N2115

Adesuwa tossed a fair die 20 times and the numbers that slowed up were as follows:
	Die
	1
	2
	3
	4
	5
	6

	No. of times
	6
	4
	3
	1
	2
	4



Use the information to answer questions 32 and 33
32. Find the mode (a) 1 (b) 3 (c) 5 (d) 6
33. Find the mean (a) 61 (b) 30.5 (c) 22.05 (d) 3.05
34. What is the simple interest on N300 for 5 years at the rate of 6% per annum? (a) N25,000.00 (b) N150.00                                   (c) N90.00 (d) N9.00
35. Express 976 in words (a) Ninety thousand and seventy-six (b) Nine thousand and seventy-six (c) Nine hundred and seventy-six (d) Nine hundred and sixty-seven
36. Write in figures one hundred and five thousand and six (a) 1,050,006 (b) 105006 (c) 15006 (d) 10506
37. A housewife spent 3/7 of her money in the market and ½ of the remainder in the shop.  What fraction of her money is left?  (a) 1/7 (b) 2/7 (c) 5/7 (d) 1/14 
38. What is the difference between 45 and 0.45? (a) 45.45 (b) 44.55 (c) 44.45 (d) 0.45
39. Express 0.532 as a percentage (a) 0.532 (b) 3.25% (c) 50.32% (d) 53.2%
40.  (
9cm
9cm
15cm
15cm
)










         Find the area of the shaded part of the above diagram. (a) 306cm2 (b) 244cm2 (c) 225cm2  (d) 144cm2


   Sample

 (
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6
9
9
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 2 
 ¼  
 2½  
 4
 9
 5
 
16
)




 (
 5
 6
 25
 ?
)

41.                           (a) 11 (b) 24  (c) 30  (d) 36     




                                                                                                                 
42.  (
 
¼ 
 
 5
 
?
 
5¼ 
)                           (a) 5½   (b) ½  (c) 1/8  (d) 1/16


 (
 3
  ?
 9
   
 
8
   8
)

43.                            (a) 5 (b) 11 (c) 12  (d) 64



Find the relationship between the four numbers

 (
2
8
5
3
6
12
9
7
11
14
9
8
)







 (
5
11
6
)Use this relationship to fill the vacant boxes of triangles in questions 44 to 46

44. 

(a) 7 (b) 8 (c) 9 (d) 10

 (
3
9
6
)


45. 
(a) 4 (b) 5 (c) 6 (d) 7

 (
9
12
10
)

46. 

(a) 13 (b) 14 (c) 15 (d) 16


 (
5
35
2
7
7
84
5
12
14
6
20
280
)
Sample





Study the pattern in the sample above and answer questions 47 to 50

 (
9
11
20
)

(a) 99 (b) 101 (c) 120 (d) 180
47. 





48.  (
5
5
0
)
(a) 0 (b) 5 (c) 15 (d) 25




 (
11
20
220
)

49.                                    
(a) 2 (b) 9 (c) 11 (d) 22 



 (
4
/
5
½ 
1
1
/
25
)

50.                                     (a) 6/25  (b) 3/10  (c) 12/5  (d) 13/10




SECTION B:
THEORY: - Write out your solutions in this section  (50marks).

1. What is the square root of 54/9?

2. Write 20110 in words

3. Jide’s mother went to the market to buy some articles.  She bought 3 dozens of cups and 1½ gross of plates.  How many articles did she buy altogether?

4. Find the average of 124, 108, 198, 120 and 100.

5. If a car covers a distance of 189km in 4½ hours, what is its average speed?
4
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